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# Atvaltas 10-es szamrendszerbdl 2-esbe
x =y = int(input("Kérem az atvaltandd pozitiv egész szamot : "))
# 1. megoldés sk sk ok ok ok ok sk ok sk ok ok ok ok ok ok ok ok sk ok sk ok sk ok ok ok ok ok ok sk ok sk ok ok ok ok ok ok o ok sk ok ok ok ok ok ok sk ok sk ok ok ok ok ok ko

print("\n--- 1. megoldds ---

bX = mn

while x != @:
bx = str(x % 2) + bx
X =Xx// 2

print("eb"+bx)

# 2. megoldés Sk sk sk 3k sk 3k sk sk 3k sk ok sk sk ok sk ok sk Sk sk sk sk sk sk 3k >k sk 3k sk sk sk sk sk sk sk sk sk sk sk sk >k sk 3k sk 3k ok sk sk sk ok ok sk sk sk sk sk k
print("\n--- 2. megoldds ---")

print (bin(y))
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